ORIGINAL INSTRUCTION MANUAL

Important Note

{ HARDWARE NOTE : \
1.Two or more people are required for assembly

2.Do not screw on the bolts too tight unless the !
installation is done. Makg sure all bolts are tightly i

\ \ screwed before you use it. j

15/15 1/15




Assembly Instruction

=\

———
e N
O

Important Note

{ HARDWARE NOTE : )
| 1.Two or more people are required for assembly

2.Do not screw on the bolts too tight unless the
installation is done. Make sure all bolts are tightly
screwed before you use it.

|
=

\
° @xlpc

« ©xipc
Y (i
N
« ®xipc
« ®x20cs
« @xipc

Components

A |

\:

NN
© o o

L]
L]
L]
L]
L]
[ ]
L]
L]
P
[
o}
o

-

AN
N




Q
jo
L}
©
L
L]
L]
L]
L]
L
L
L

e e o o o o o ‘OXIZDCS

]
o

]
e}
=

9x6pcs

Oxlpc

®x4pcs

(=1
<

]
<]
=

.......oGXchs

M8x60

oooooooo®x4pcs

M4x10

S

)
N

ST3%10 o o @ o o o o o @xllpcs

L

-
4

@xlpc

000000000X4DCS

RN
Sa
>, 0 e e e e o o x1lpc
N 2
253
3
=3

@C\‘ e o o o o o o o @XIDC

J
N

J

M8x12
whitex zinc epes

C @ M8x14 |[1pc

B

N

e o o o o o o OQXZODCS

%3){3 ooooooooexlpc

oooooooo®X4pCS

ST3. 2%16
white zinc

o,

2]
Q
=
[ag}
e
.
.
.
.
.
.
.
.

L
L
L]
L
L
L]
L]
L
(=
ot
4
w
=

ST4.2410 ¢ ®© © © o o e @ QXZDCS

©

®x17pcs

lepc

.
.
°
L]
.
.
.
.
w0
o
»
[Ie}
o

ooooooOOmXZDCS

00000000®X3DCS

5x5 oooooooo@xlpc

3/15

14/15



Open the metal frame

rotates 90 degrees and gets stuck

metal frame as showed

4pcs

F m- M4x10

Accessory | is not locked

tight at first

Fastening accessories N

G V ST3#10 | 3pes

13/15

4/15






t the posit f
so that the door panel is tight

Adjust the position of accesso

11/15

Open and expand it as showed

-

6/15



G [g% ST3+10

(o7
'ST4_2x16

) (I component 7 does not close

properly after it is installed, adjust
it according to the following view.

10/15

Q) M8x16

.| Install 17) and 18) as showed 17

Fix @ with screws on two sides of footboard

M8x16 | 4pos




Fix the screws on two sides under headboard

M8x16 | 4pes

Q)

A

D

9/15

8/15





